Practice Paper Grade 5 (Day-5)
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English
1. Select the correct option to complete the sentence.

I quickly ate chocolates.

(@) a (b) an (c) one (d) the

2. The manin the pictureis a

(a) tailor (b) carpenter (c) farmer (d) potter

3. Select the word to complete the sentence meaningfully.
Radha and her sister going to the zoo.

(a) loving (b) love (c) loves (d) areloving

4. Select the word to complete the sentence meaningfully.
The lion is standing the tree.

(@) on (b) in (c) above (d) under
5. Select the word pair with correct opposite genders.
(@) hen-hare (b) niece-nephew

(c) tiger-lioness (d) uncle-grandmother



